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SIENFRE=12.1, MAB)IRE=152, #BA)I5RE=8.7,
=B (EEHRIE) =158, RJIE=185, #H)IRE=7.9,
AHBIFRE=9.8, #iE/IRE=-24.1, B)IIRE=8.3,
)11 (F848) Fit=3.8, $1R)IIFE=6.1, FiD)I|;15=5.6,
2 B)IRiE=7.7, #REKIGRE=8, B&)IFE=16.6, 7L &)IFiZ=6,
EO)IFE=4.9, #BE)I7EH=38, BA)IFfEH=202, KE/IFE=8.1,
TEFERREE |AIIFRE=116, KE)RE=9.8, HBF)IFE=-42, NSH)IFE=73,
FRIE)Is=4.1, \WAL)IFRI=7, =481 (R A BB Fitel=5.7,
ZENFE=4.3, i) E=3.9, EE)IIRE=58, IAREIIFEE=77,
H)II (Fi ) Fetgi=5.6, %1 )11isi=7.8, BRE)IIFiti=54, FF5E)Iiigi=4,
#RNFE=3, £O)II5E=6.9, &/ Il i=5.7, #iR)IIFi=45,
AINIFRE=11.4, 3)11IE=8.9, FIEB)IIFRiEE=6.2, KFRIRH=23,
FE)fs=45
K
{Ei-)IFRIE=(5, 87.3), Bi&)IIFRig=(6, 9.8), YA MH)IFE=(5 112),
AR FIE=(5, 7.8), B (AHRIE) fitdh=(6, 13.3),
=8 2)1IFE=(6, 18.3), HZ)IIFIEH=(10, 5.3), &B)IE=(6, 19.7),
)1l CF3848) Sitdi=(5, 3.2), ABF)IFE=(6, 55.8),
hz &)IFiE=(5, 6.9), #R:EKIIFE=(5, 6.9),
foror s A BANIFRE=(6, 149), ANIBRIIGRE=(5, 5.4), BR)IRE=(5, 44),
A= (6, 3.3), ARIFE=(6, 13.7), KE)IlftkE=(5, 7.2),
MEWEIRE=(7, 3.7), NERIIFE=(5, 65), faFE)iRiE=(10, 4.1),
&) =6, 3.4), BiE)IIE=(5, 5.2), INREIIGRE=(5, 7.5),
I () = (5, 5), HL)IRE=(6, 6.9), #iRJIFHE=(5, 2.5),
FNDNGFRE=(5, 11.3), KFRIIFE=(5, 2)
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SR I5REE=9.6, XA BIFE=12.1, MA)IFiE=6,
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)1 CRR48) isi=2.9, SR )IIFREi=4.8, BFil)IljEi=44,
iz B)IfE=6.1, #IREKIFRE=64, 185)IIFE=132,
ANNB)IREE=4.8, ZA)RE=3.9, #HE)IFRZ=3, BEA)IRE=16.1,
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BB (B BB =46, ZF)IIFiE=3.5, EH)I5E=3.1,
B)ITE=4.6, NAY)IFE=6.1, #)Il i) SRigi=4.4,
L )IE=6.2, BEE)IIE=4.3, FE)IME=2.9, #iR)IFE=23,
T OJIFRE=55, &/ X)FkiE=4.6, #R)IGE=3.7, #)1)I5EE%=9.1,
F)FE=7.1, MBIFE=4.9, KFERIIFE=1.7, 3&)I15HE=37
ERIRE=(5, 62.1), KiEDKEERIEL=(7, 44.7),
s#K B 5RE=(6, 7.8), MAMAIFRE=(5, 10.1), #A)IIFREE=(5, 6),
=B (EHRIE) =5, 10.7), 2= (6, 148),
WS )FRIE=(6, 4.8), KEIFRE=(6, 7.3), #%i@)IIKLEL=(6, 11.6),
B)IFHE=(5, 5.3), #)Il (FB1B) Fildi=(5, 2.8),
AE)IiE=(6, 49.6), hZB)IFE=(5, 6.1),
HEREKINFE=(5, 3.9), BH)IFE=(5 13.2),
T FINB)FRE=(5, 4.8), BR)IIFE=(5, 3.9), #HEJIFE=(6, 26),
waiE FAF=(5, 12.3), Kik)IIFeli=(5, 4.1), Bl 7= (5, 9.2),
EAR)IFE=(5, 7.8), FEIE)IFE=(6, 26), INBB)IFHE=(5, 5.8),
FRIE)IfsE=(6, 3.1), WAL)IFEIE=(5, 5.6),
B®IB)I (A BET) RiE=(5, 3.2), Z&)IIFE=(6, 2.6),
SEER SE )= (5, 3.1), EIFE=(5, 4.6), IAREIFE=(5, 4.9),
1 G ) Rgi=(5, 3.7), HL)IiRiE=(5, 6.2), BREJIFRiZ=(5, 4.3),
FEENGRIE=(5, 2.9), #iR)IFE=(5, 1.8), £OJIIRE=(5, 5.5),
FNDNGFRE=(5, 9.1), KFERIIGREE=(5, 1.3), F&)IlRE=(5, 3.6)
BEAIGRKTHR |(ERNTR-R/00[RI&],
ICKHEHE ERINGR+BE (&) NF4a-RE-KE], AFIIEZRN]
e 5 BEE 4~98 12m/s 10~3H 15m/s
e FHRE il 15m/s
= S et 4~98 12m/s 10~3F 15m/s E&EHS
RS FHER BE 15m/s BEES
= = 7y Fith CEEREIEE DFES15cm
= EOR e [12BEEE)ZE300m
R FERS 2.5m
=i B 1.0m
= EEZCLVEENFTESNDLES
BT 1. B0 B FEHTBEHI10°CLLE
* 2 EEMEO B FHEEATCLULE, A, BT KRS /s E A A KEKEA20mmELE
s o o Bt [100m
Pt Hig = ]500m
(25 RNRE 40% EIHEE 65%
— 1. 24B5 R E D FEEA50cmLl E TRBOELMAKEES
= 2. FEENB0emLl E TRE KBNS CLEICHSH, BREKE20mmLl EOBRIHLEHE
&iE 5~98: B EHTENFELYICLULIENAA3A LLEHEE
m 1M~4F:BF REXE-4CUT FH HEKJE-TCUT WAL REKE-10CLUT
= BE BREHCRESBICUT
Ek-EE LELLEKAPESNEBE

2. SUROCAHAT, UL DEAKERH L LRYFKETFESNGEE

LSRR E KRR

TRETE [100mm

REWBEY AEFEER OHAAhEICLIREBERLTVET.



